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Attempt any five questions.

All questions carry equal marks of 15 each.
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Discuss major trends in India’s macro-economic perform
ance in

the last decade with special reference t
0 Savinesg & |
S nvestment

and Inflation.

Why are the recent trends in the growth ang composmon of

Indian exports disturbing ? HOW does the new Foreign Trade

Policy (2015-2020) address thjs issue ? | 8,7
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Explain why (just) increasing the Minimum Support Prices

will not improve performance of agriculture in India. Which
other policies are needed to achieve a higher growth in this
sector ? . 6,9
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What has been the impact of the 1991 economic reforms O

agricultural sector ? Evaluate the effect of trade policy reform

9,6

on edible oils and cereals.
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Liberal economic: reforms framework constructed over the last

quarter century has not served the manufacturing sector well

despite faster economic growth and output diversification. DO

you agree ? Justlfy 15
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What are the major benefits of Foreign Direct lnvestmént (FDI)
for a country ? Has India been able to reap these benefits after

substantlally opening up the economy to FDI ? 6,9
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Discuss the recent changes in the relative performance of

the various sub-sectors of the Indian service sector. How

far have liberalization policies been responsible for these

changes ? | | 15
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Write short notes on’ any',tw.o of the. following : 75,75
(a) Antitrust Laws in India

(b) Privatisation Policies in India

() Labour laws in India .

(d) Role of Agric»ultural Produce Market Committee (APMC)

in. Indian agriculture.
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